№1
[image: ]
1) a = 2sin10°*b
2) a3+b3 = 8sin310°b3+b3=b3(8sin310°+1)
3) 3ab2=3*2sin10°b*b2=6sin10°*b3
4) a3+b3=3ab2, так как
b3(8sin310°+1)=6sin10°b3, так как
8sin310°+1=6sin10°, так как
1=2*(3sin10°-4sin310°),
1=2*sin30°,
1=2*1/2
1=2
(читд)
№2
1) a2x2+(b2+a2-c2)x+b2 = 0
Д= (b2+a2-c2)2-4a2b2 = (b2+a2-c2-2a2b2)*(b2+a2-c2+2a2b2) = (( a- b)2-c2)*(( a+b)-c2)
          2)
          [image: ]
           3)|a-b|<c => (a-b)2 < c2 => (a-b)2-c2 < 0
           4) (a+b)>c => (a+b)2>c2 => (a+b)2-c2 > 0
           5) Из 1, 2, 3, 4 пункта следует, что дискриминант < 0 => действительных корней уравнение иметь не может.
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